Year 1 — Spring block 3 — Measurement

WRM Small Step: Compare lengths and heights.

Fluency Tasks (1)

1)

Use the words taller and shorter in the sentence stems to compare the
height of the tree and the flower.

The tree is [ ]than the flower.

The flower is[ ]than the tree.

2)

height of the giraffe and the lion.
The lion ls[ ]than the giraffe.
The giraffe is[ ]than the lion.

3)

Use the words taller and shorter in the sentence stems to compare the
height of the car and the truck.

The truck is[ ]than the car.

The car is[ ]than the truck.
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Year 1 — Spring block 3 — Measurement

4)

Use the words taller and shorter in the sentence stems to compare the
height of the tree and the school. 1

The tree is [ ]than the school.

The school is[ ]than the tree. r

Yy Vv

5)

Use the words taller and shorter in the sentence stems to compare the

height of the ladder and the bucket. 1
The ladder is than the bucket.
The bucket is than the ladder.

6)

Use the words taller and shorter in the sentence stems to compare the
height of the bookcase and the cat.

The bookcase is[ ]than the cat.

The cat is[ ]than the bookcase. ggs
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WRM Small Step: Compare lengths and heights. Answers

Fluency Tasks (1)

1)

Use the words taller and shorter in the sentence stems to compare the
height of the tree and the flower. A

A

The tree is [ taller ]than the flower.

The flower is[ shorter ]than the tree.

2)

height of the giraffe and the lion.

The lion ls[ shorter ]than the giraffe.

The giraffe is[ taller ]than the lion.

3)

Use the words taller and shorter in the sentence stems to compare the
height of the car and the truck.

The truck is[ taller ]than the car.

A

The car is[ shorter ]than the truck. ;l i ' 'y

£
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4)

Use the words taller and shorter in the sentence stems to compare the
height of the tree and the school. 1

The tree is [ shorter ]than the school.

The school is[ taller ]than the tree. r

Yy Vv

5)

Use the words taller and shorter in the sentence stems to compare the
height of the ladder and the bucket. 1

a N

The ladder is taller than the bucket.

\ v

The bucket is shorter than the ladder. @g

4

6)

Use the words taller and shorter in the sentence stems to compare the
height of the bookcase and the cat.

The bookcase is[ taller ]than the cat.

The cat ls[ shorter ]than the bookcase. &9
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